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LIFE SCIENCES
Paper 11
Time Allowed : 2 Hours]’ [Maximum Marks : 200

Note :— This question paper contains of one hundred (100) multiple choice

questions. Each question carries two (2) marks. Attempt all questions.

4 Which of the following statements is not correct ?

(A) Catalase is a marker enzyme for peroxisomeé

(B) Succinate dehydrogenase is a marker enzyme for mitochondria

(C) «a-amylase is a marker enzyme for chloroplast

(D) Acid phosphatase is a marker enzyme for lysosomes
2. The concentration of hydrogen ions dissociating from pure water is :

(A) 1 x 10719 moles H* per liter of water

(B) 1 x 1077 moles H* per milliiiter of water

(C) 1 x 1077 moles H* per liter of water

(D) 1 x 10719 mofes H* per milliliter of water

3. Which of the following statements is not true for prosthetic group of an

enzyme ?

(A) It is a non-protein component

(B) It is tightly bound to the apoenzyme by covalent bonds
(C) Usually small inorganic molecule or atom

(D) It is loosely bound to the apoenzyme by non-covalent bonds

T.B.C. : 03/18/SET—II 2
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1. frafafed § § 9@ ®99 T8 TG © 2

(A) Catalase, TGN (peroxisome) # AT T&H H&H{ TWEH -%

(B) Succinate dehydrogenase, SRSl (mitochondria) # fT TH A

T &

(C) a-amylase, FAR@RE (chloroplast) & faT T& Y T ¥

(D) Acid phosphatase, TEEEH (lysosomes) % faT TH Y USEH
9. g T ¥ faufen wReem o # Wisd ¥ 2

(A) 1 x 10710 9@ H* wfq wfex art

(B) 1 x 1077 9 H* ¥fa fireftefter I

(C) 1 x 1077 9= H* wfq et wrt

D) 1 x 10710 @@ H* wfa firefiefiz ot '

3 fyofefad § @ F99 F99 TF USEA & ‘prosthetic group’ F T & @
€7

(A) % TF R-WH T 2

(B) 7 WeEdwE sl g TIESTEH ¥ FEHL 91 €
(C) IWAR W B FTHMEIAR A TN I

D) 7% n-meEdeE 94 gr T fafue g @
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4. Which of the following is not an example of sugar alcohols ?
(A) Sorbitol (B) Mannitol
(C) Isomalt (D) Galactose

5. Which of the following forms of DNA was used to derive Watson and Cricl
model of DNA ?

(A) Z-DNA (B) B-DNA
(C) Both A-DNA and Z-DNA - (D) A-DNA
6. During competitive inhibition of an enzyme :

(A) K,, changes

(B) V changes

max
(C) Both K, and V.. change
(D) Neither K nor V.. changes

7. What are liposomes ?
(A) Lipid bodies
(B) A type of cell ofganelle
(C) Phospholipid molecule enclosing a water droplet

(D) Protein storage vacuoles

8. What is the chemical nature of ion pumps and channels ?
(A) Lipids (B) Proteins
(C) Glycolipids (D) Phospholipids

T.B.C. : 03/18/SET—II 4



frafafea #§ & #9E ‘sugar alcohol’ &1 TRV & & ?
(A) Sorbitol ' (B) Mannitol

(C) Isomalt (D) Galactose

ST & T AR fFe oied 1 Tw w1 ® fau S & frefafea § @ &
®q & AW fm mm oen ?

(A) Z-DNA (B) B-DNA
(C) A-DNA 3R Z-DNA i (D) A-DNA

TF ToeH & yfaeqdt 184 (Competitive inhibition) & XA :
(A) K, 9¢or g

(B) V., <@ §

(C) K, 3R V_. 3F *&ed §

D @K, ARTAV_ wKe ¥

fageg @0 § 2

(A) fafre frwm |

(B) T&H YR 1 HITEH T1A (cell organelle)

(C) wiERfafde 317 T Tt &t d & R T

(D) WA wErRw fifwmand

AP Y9 R ATl Bl (AR YHa R ?

(A) Lipids (B) Proteins

(C) Glycolipids (D) Phospholipids
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9. Molecules that facilitate protein folding by inhibiting incorrect folding are

called as :
(A) Molecular chaperons (B) Globular proteins
(C) Fibrous proteins (D) Catalysts

10.  Which of the following statements is not true for sodium-potassium pump ?
(A) Sodium-potassium pump is fueléd by ATP hydrolysis
(B) For every three Na* transported out of the cell, two K* are transported
into ‘it |
(C) The affinity of the pump for Na* and K" does not change by adding

or removing phosphate

(D) The conformation of Na* - K* pump is changed by addition or removal

of phosphate
11. The three-_dimensional structure of microtubules is :
(A) Monomeric (B) Dimeric
(C) Multimeric (D) Tetrameric
12. Prolamellar bodies are present in :
(A) Etioplasts | (B) Vacuoles
(C) Chloroplasts (D) Chromoplasts
13.  Which of the following set of codons represents ‘stop codons’ ?
(A) UAA, UAG, UGA (B) UAA, UGA, UGU

(C) UAG, UUC, UAA (D) UGA, UAG, UUG

T.B.C. : 03/18/SET—II 6
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T 8 I IHF W F AST FT A 7 G A FOF Fal 1 € 2
(A) g TR (B) ToAgER W

(C) WRR WA (D) IAF (catalyst)

Afem-difem 01 & foy fefaten § ¥ S we gd W ¥ 2

A) Sfeam-difmy T0 @ srefates R e o §

(B) WO T Na* Ffve & o1 & 91 F fog, & K* 1 Afeewt F @

ST ¥
(C) Na* 3l K* & AU 90 3 srefioal wiehe i Ssd 1 21 § T8 sead! €
D) Na* - K* W9 &1 w0 ®iehe F ooR @1 @H ¥ weel 9 ¥
gaFAfTET (microtubules) 1 @ = #0 § 2
(A) Monomeric (B) Dimeric
(C) Multimeric (D) Tetrameric
Wdfer fF@ (Prolamellar bodies) fed #Hg § ?
(A) TfeAraTE (B) fifmad (Vacuoles)
(C) AR _ (D) FHRE
ﬁwfaf@a.ﬁ@rﬁmﬁgﬁ‘@naﬁgﬁ'muﬁfﬁfuam% ?
(A) UAA, UAG, UGA (B) UAA, UGA, UGU

(C) UAG, UUC, UAA (D) UGA, UAG, UUG
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14. Which of the following statements is not correct ?
(A) In transcription, only one strand of the DNA (the template strand) is
copied ’
(B) Prokaryotes have a single RNA polymerase enzyme
(C) Initiation of mRNA synthesis also requires a primer, like DNA replication

(D) During translation, tRNA acts as an adaptor between mRNA codons and

amino acids

15. Peptidyltransferase (an important enzyme involved in the process of

translation), resides in :
(A) Small subunit of ribosome (B) Large subunit of ribosome
(C) Smooth endoplasmic reticulum (D) Mitochondrial matrix
16. Genetic material of tobacco mosaic virus (TMV) is :
(A) dsDNA (B) RNA
(C) Plasmid (D) Episomes
17. Which of the 'following functions is performed by the enzyme ‘DNA
gyrase’ ?
(A) Unwinding of DNA
(B) Synthesize primers for DNA polymerase
(C) Removal of torsional strain during the unwinding of DNA

(D) Degrade DNA from one end

TR.C. : 03/18/SET—II 8
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16.

17.

freafafed § § SFE w97 TE T4 § 2

(A) ufaered (translation) H, STAT & &ad Th we (AR we) = yiafan
GRS I

(B) Vrafdeg # TH THhe IR WS TSEA A §

(C) mRNA T¥awU # Y[ & fau off, e sfasia # @@, T TEW &
S CERET IR LI

(D) Translation 3 ¥XM, tRNA mRNA #1g 3R il ufre & o9 T o=
% 'y w1 w@ T

YeTefeateieahts! (translation 1 fFa1 § Wt T Weeqd tored) fHEE o

S 7 ?

(A) u@@n%.@%aﬁzﬁ (B) TEeEm & W% wgfe d

(©) o werenfors Yowem § (D) "EdeieEw A A

FarR, Ao/ ARG (TMV) 1 e gt ®

(A) dsDNA | (B) RNA

(C) Plasmid (D) Episomes

fe & § S wE GRn (ST e g fe S ¥ 2

(A) DNA # s |

(B) DNA Welmw & foau wemdl &1 §veio =i

(C) DNA & syRfgd 39 & SNH Tg a1 a9 1 &Ml

(D) TH fR ¥ DNA & SHE &
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18. Which of the following statements about viruses is not correct ?
(A) In lytic pathway, the host bacterial cell ruptures following viral infection
(B) The viral coat-capsid, surrounds the nucleic acid
(C) A virus can be replicated only within a suitable host cell

(D) In lysogenic pathway, the host bacterial cell ruptures following viral

infection

19. Which one of the following statements is not true for Systemic Acquired

Resistance (SAR) ?

(A) SAR-conferred immunity can last for weeks to months, and possibly even

the whole growing season
(B) SAR can be boosted by repeated infections
(C) SAR is effective against all pathogens

(D) In contrast to effector triggered immunity, SAR is not associated with

Programmed Cell Death

20. In general, signal transduction pathway does not use one of the following

as a second messenger for communication ?
(A) G-proteins (B) Calcium
(C) cAMP (D) RuDP carboxylase
91. A flattened organ arising from the stem of a plant is known as :
(A) Cladode (B) Phylloclade
(C) Cladophyll (D) Clade

T.B.C. : 03/18/SET—II 10



L8.

19.

20.

21.

e % R P § % w2

(&) Lytic T #, arre wFaw % A Ao am B @ a6 3

(B) R #ie dftgg, Ffferd s = a1 §

(C) THh IFRE H had TF SUGHK o2 Ja & il S o G ©

(D) eSS A, ae SEE @ R Ao S B B a
el SHfmew Wil (SAR) & for freifafen # 4w we 9@ W ¥ 2
(A) SAR ¥iRel WWE ¥ WH % ® W ¥, ok Gvem: R YeER § o

(B) SAR ®I 9R-9R B o) HHAU ¥ 9@ W Hehel §

(C) SAR §sft Uo7 & faems gomet ¥

(D) nwmmaﬁﬁqﬂauﬁ?mﬁ,smmﬁﬁmmmﬁmﬁm%
W#ﬂﬂ,dﬁ%ﬂ@ﬁ%m@m%mﬁﬁwﬁfﬁaﬁ
YU I AG O R

(A) G-9eH (B) whiceaw

(C) cAMP (D) RuDP eifagerst

99 % T ¥ 39 B9 9N 9ue o fRw w9 H S oS ¥ 2

(A) FIEE (B) ThTEeihS

(C) FefEa (D) =i
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22.°

23.

24.

25.

26.

Successive cambium is observéd in the stem of :

(A) Boerhavia | (B) Salvadora

(C) Bignonia ' (D) Aristolochia

The role of GNOM during embryogenesis is to :

(A) Determine radial patterning

(B) Determine axial patterning

(C) Ensure polarization of PIN-formed auxin efflux carriers
(D) Control the development of central region of embryo
In salt-tolerant plants, excess salt is transported to vacuole by :
(A) Na*-H* antiporters (B) Na*-K* pumps

(C) Na*-CI~ symporters (D) Na*-H* PPases.

During ammonia assimilation in majority of legumes, including soybean anc
cowpea, export of nitrogen from nodules to the uninfected cells takes place

in which form ?
(A) Uric acid ) (B) Allentoin
(C) Allentoic acid (D) Glutamine

During photorespiration, the conversion of glycolate to glyoxylate takes

place in :
(A) Mitochondria (B) Peroxisomes
(C) Chloroplasts (D) Nucleus

T.B.C. : 03/18/SET—II 12



00, i dfam = frs @ A d@ W ¥ 2
(A) SR : (B) drearsR
(C) forrfrn (D) SR

93. YUNFA & SRH GNOM &1 ffie ¥ :
A) feza Feffn fuRm
(B) a&fig Ted fraim
() T-fafifa oifee @ am® &1 et FHT=d &
D) Y & 7" &5 & fowm W FrEm

94, ueh-giew 0 #, srfafem TwE A ffew gr wEEEn W@ %
(A) Na* -H* TIU& gW (B) Na* K" 79 gm0
(C) Na* —Cl~ Wesdl gmI | (D) Na* -H* PPase BN

95. T 3R aifaa afea sifyete wiodl § srfn & ST & QRH, TEshiHd
Ffererisi 1 Aegew A g w1 Frald fhw w1 F g 2

(A) Uric acid (B) Allentoin
(C) Allentoic acid . (D) Glutamine

96. TRRERYA & <NH, glycolate ®1 glyoxylate H &Rl e e ?
(A) Mitochondria (B) Peroxisomes

(C) Chloroplasts (D) Nucleus

T.B.C. : 03/18/SET—II 13 P.T.O.



27.

28.

29.

30.

Sucrose is a preferred molecule for the translocation of photoassimilates

because :

(A) It is a monosaccharide

(B) It is a reducing sugar

(C) It has lesser stability than non-reducing sugars

(D) It has a relatively high free energy of hydrolysis

Chilling resistant plants generally have membranes with high content of :
(A) Cholesterol (B) Saturated fatty acids

(C) Unsaturated fatty acids (D) Short chain fatty acids

Plants dissipate excess excitation energy as heat for protection against

photooxidative damage to the photosynthetic apparatus. This mechanism is

known as :
(A) Photochemical quenching (B) Non-photochemical quenching
(C) Photoinhibition (D) Fenton reaction

Which of the following statements regarding auxin transport in plant cells

is not correct ?

(A) IAA is taken up by cells in its protonated form by passive diffusion and

in anionic form by the activity of influx carriers
(B) 1-NAA, being lipophilic, enters the cells mainly by diffusion

(C) 2,4-D accumulates in cells since it is taken up by passive diffusion and

not secreted by the efflux carrier

(D) 2-NAA is biologically inactive as auxin and does not enter the transport
system

T.B.C. : 03/18/SET—I1 A



21.

28.

29.

30.

S P SR # A T e o @ i

(A) T TF AT §

(B) 98 TF reducing sugar &

(C) 798 non-reducing YT H qoN H FA R §

(D) =EH FERAMTE g = o UeTHd SART ©

fafem wfedsh def & foeet § R SR B ¥

(A) Tl (B) wgw I 3

(C) oTHq< 41 30 (D) &Y g@en FHE 3T

TETY TYOEE T F PO dfd ¥ War # o 99 wf & w9 A

Sfafad e T B TR F W ) 3@ fFG dF H w9 A T T 7

(A) FRIGMHRT I (B) TR-wrhfuea I

() wr foy D) e Ffafwan

ey FfvEe # sifeE ofeed & gey # fEfdfed § 8 S99 FY w6 @

T2

(A) 3TEWT (JAA) FINEET g o gRMes &0 ¥ fafighy gam it witeifres
w9 § TA0A aTed &1 Tfatafy gEn feen s %

(B) 1-TATT (1-NAA), fedifirferr & & SR, T4 &9 § FOR GR1 SIS
A 439 @

(C) 2.4-D Fifeaalt § w1 81 s & Hifs a8 fferg wr g foren s § iR

(D) 2-NAA 3" & &1 ¥ Sfaw =9 ¥ ffewg & @R wfee? yomed § w9
& F

T.B.C. : 03/18/SET—II 15 P10,



31.

39,

33.

34.

35.

Which of the following statements is not true for the process of photosynthesis ?
(A) Magnesium is an essential cofactor in the water oxidizing process
(B) Photosystem I is present in non-stacked stroma membranes

(C) Photosystem II is largely present in | stacked grana membranes

(D) Photosynthetic oxygen evolving system is the only biochemical system,

which can oxidize water

“‘Prophage’ is a characteristic feature of :

(A) Lytic bacteriophage , (B) Lysogenic bacteriophage
(C) Virulent bacteriophage (D) Transposons elements

In Mendelian-‘.ge'netics, separation of two alleles in unaltered form in an

individual c%ﬁring formation of gametes is called :

(A) Inde.pendent assortment (B) Segregation

(C) Epistasis (D) Wobble -

In case of genomié ‘imprinting, the impaired genes are often found to be :
(A) Acetylated (B) Methylated

(C) Mutated (D) Translocated |

Dry rot of roots in legumes and beans is caused by : -

(A) Erysiphe sp (B) Macropﬂomina sp

(C) Xanthomonas sp | (D) Pseudomonas sp

TB.C. : 03/18/SET—II 16



31.

32.

33.

34.

35.

T Svawu w1 uiEa & fag fefafen § @ s w9 Ad ' 2
(A) mﬂﬁmmﬁﬁﬁ@m@aﬁmaﬁm%

(B) gy I -Rae W faeet # AR ©

(C) wRfEEy II V5 I w5 o FH 3 76 TN o @

(D) WHN TYONE ST fawfgd s Ol el TRHS Sa qEEiie o
T S U # Sl R OGS ©

‘g’ T el ®

(A) Lytic SeRif@ms & (B) wZENIfTEH daRIfE@es &

(C) fawmsfa SfeToEws i (D) THUE @ i

Fferm ERR! #, et & fin & <RE T st | srftafda w9 4 < e
) FAT FET FHE I E

(A) T@ad SR (B) gIFRU -

(C) urerfas (D) e

SAIfT% ®9 (genomic imprinting) F AFA #, faTeT g S SRR WAl S
. ,

(A) Acetylated (B) Methylated

(C) Mutated (D) Translocated

wferdl # 9l # GE §7 (Dry rot of roots) fFEd 2t & 2

(A) Erysiphe sp (B) Macrophomina sp

(C) Xanthomonas sp (D) Pseudomonas sp
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36.

37.

38.

39.

40.

41.

Nematbdes, parasitic on plants secrete proteins through :

(A) Stylets (B) Type III secretion system
(C) Pili : ' (D) Flagella

Botulism is caused by species of :

(A) Bacillus sp (B) Pseudomonas sp

(C) Agrobacterium sp (D) Clostridium sp

A parasite which attacks living tissue but continues to grow and reproduce

after the tissue is dead, is called :

(A) Facultative parasite (B) Facultative saprophyte
(C) Necrotroph (D) Biotroph

Which is the largest commissioned National Park in India ?

(A) Jim Corbett National Park (B) Bandipuxt National Park
(C) Gangofri National Park (D) Indravati National Park

In which of the following Orders, several families show successive

cambia ?
(A) Malvales - (B) Asterales
(C) Chenopodiales (D) Liliales

Which of the following is not a measure of dispersion and variability ? (Statistics)
(A) Range (B) Variance

(C) Standard deviation (D) Mean

T.B.C. : 03/18/SET—II 18



36. "Rre, MHl W e, fRe Aemm ¥ WEE wfgd #Rar § 2

(A) Stylets | (B) 29 III ¥1@ gt
(C) fueht ' (D) iRt
37. wgfoen fRg yenfadl & FRO A T 2
(A) e (B) =M
(C) IR D) FfeTm

38. TH YA W Sfifad e W THCN HAA §, AfhT Faw o Ga & 9H b g o
Fed 3R TS H @A 8, FEAd g ?

(A) Facultative parasite (B) Facultative saprophyte °
(C) Necrotroph (D) Biotroph |
39. 9N %1 YWY TS commissioned TS W HITH T 7
(4) fom Ffefe Rrw T (B) IR T S@H
(©) T S—— (D) SmEd U FEH

40. frefafed § ¥ fF9 Order #, %% IRER (families) Hfw Hfiwa fea@ € 2
(A) Malvales ) (B) Asterales -
(C) Chenopodiales | (D) Liliales

41, frefafea § § s o iR gRadsited (dispersion and variability) 1 A19%
& ¥ 7 (Statistics)

A) W (B) fa=mw (Variance)
(C) TFs fa=em | (D) #H

T.B.C. : 03/18/SET—II 19 . P.T.O.



42.

43.

44.

45.

Which of the following statements is not correct ?

(A) When the genes within the same species show different versions due

to new combinations, it is called genetic variability

(B) The diversity in wild species forms the ‘gene pool’ from which crops and

domestic animals have been developed
(C) The ecosystem diversity has developed over millions of years of evolution

(D) Genetic diversity represents broadly the species richness and their

abundance in a community
Which of the following biotic province comes under Deccan Peninsula ?
(A) Central Plateau, Eastern Plateau, Chhota Nagpur
(B) Chhota Nagpur, Western Ghats, Central India
(C) Eastern Plateau, Central India, Thar
(D) Central Plateau, Eastern Plateau, Western Ghats
Which of the following is not an analytical character of community analysis ?
(A) Frequency (B) Abundance
(C) Density (D) Sociability

In Engler and Prantl’s system of classification, Amentiferae does not

include :
(A) Betulaceae (B) Juglandaceae
(C) Ranunculaceae (D) Fagaceae

T.B.C. : 03/18/SET—II 20



42. frefafed § 4 FFw Fo7 7@ & ¢ ?

(A) V9 TF & YoId B o AU GASE B FRO -3 T fEn €, @
R AERE TRadTviea we 9§

(B) et yenfadl # fafaya ‘5w q@’ a9t & @ weet ok W MR fasfaa
fre T ¥
(C) witfeafamt @ &t fafawa fawm & ol oo & fawfas g€

(D) 3afee fafaua AR AR W & wqeE § yonfdl &t ¥qfg iR 371 agaaa
U ® |

43, Frefefen % 3 s Y o S T B s o R 2
(A) A TSR, G R, Bl AR
(B) B AR, U9t W, W 9N
(C) Tl SR, W WRd, 9K
(D) %ﬁaw,@m,qﬁaﬁm
u. frofafer § ¥ 29wl e U e T T § 2
(A) 3mgfd (B) g
(C) W (D) G
45. UWRER 3R Wed & T Ht Yumelt ¥ (Amentiferae) fHE & F@ar :
(A) Betulaceae (B) Juglandaceae

(C) Ranunculaceae (D) Fagaceae

T.B.C. : 03/18/SET—II 21 : P.TO;



46.

47.

Bicarpellary, syncarpous, unilocular ovary with a single basal ovule is
characteristic of :

(A) Solanaceae | (B) Lamiaceae

(C) Asteraceae (D) Brassicaceae

The determination of branching pattern of evolution is called :

(A) Phenetics (B) Cladistics

(C) Numerical taxonomy (D) Multivariate morphometrics

48. Which of the following statements is not correct ?

49.

50.

(A) A lectotype is selected from isotype or syntypes

(B) A duplicate of holotype is called isotype

(C) Topotype is the name given to a specimen collected from the same locality

from which holotype was collected
(D) A neotype is a specimen derived from an original collection

Which groups of algae are considered to be the closest relatives of land

plants ?
(A) Rhodophytes (B) Chlorophytes
(C) Pheophytes (D) Charophytes

Which of the following features is used to support the Endosymbiont Theory

for the evolution of eukaryotic cell ?
(A) Presence of nuclear envelope
(B) Presence of cell membrane around organelles

(C) Similarities between the mitochondria and plastids with prokaryotes

(D) Presence of plastids in plants and mitochondria in plaﬁts as well as animals

T.B.C. : 03/18/SET—II 22



46.

47.

49.

50.

TRM

THe 99el 3 (single basal ovule) # WY aEwRe, foFana, waRE
e Rt fadoa € -

(A) Solanaceae (B) Lamiaceae

(C) Asteraceae (D) Brassicaceae

fawm@ @t wm@n (branching) ¥ & frufor 1 a1 s % .

(A) Phenetics (B) Cladistics

(C) Numerical taxonomy (D) Multivariate morphometrics

frafafen § @ 7w 97 & & & 2
(A) TF lactotype I EEIeEY A fo=r® & I ™ ®
(B) UEREY & Th geiihe H IAEHERY F@ A

(C) rierey I Toeh V THA AT T UF A F fe AW ¥, SRl /ey
LeERCTIIRC B

(D) TF neotype T 7o TIE § Wd UF T ¢
o F HHE GYE WAg A Fw FE G oS g

(A) Rhodophytes (B) Chlorophytes

(C) Pheophytes ' (D) Charophytes

o F % fasre % fo Gimaive w1 e 8 g P
i 3 fem fadwa &1 swm faa s € 2

(A) WY F&9 (nuclear membrane) H! Iufeufa

(B) d & =X 3R Hfvrw faech =t Sufeafa

(C). Wehfdiew & W9 "W 3R wifes & 9 qamHa

(D) Wi § wnfiesw #t sufeafa ok el @ wg-we oyel § wedefem

-« DRRISET—IT 23 P.T.O.



51.

52.

53.

54.

95.

In geologic time table, which one of the following is referred as Epoch ?
(A) Oligocene i (B) Cenozoic

(C) Silurian (D) Jurassic

Select the correct group of plants used as source of biofuel :

(A) Terminalia, Anthocephalus, Jatropha

(B) Populus, Jatropha, Pongamia

(C) Polyalthea, Pongamia, Terminalia

(D) Terminalia, Jatropha, Anthocephalus

Generally, during crop domestication, genetic diversity for selected traits :
(A) Increases

(B) Decreases

(C) Remains unchanged

(D) Initially increases and then decreases

Which of the following insect pests can not be distinguished into

“biotypes” ?
(A) Hessian fly of wheat (B) Rice gall midge
(C) Whiteflies (D) Cotton bollworm

Cyclosporin A, a bioactive molecule used as immunosuppressive agent, is

obtained from :
(A) Trichoderma polysporum (B) Saccharomyces cerevisiae

(C) Aspergillus niger (D) Clostridium butylicum

T.B.C. : 03/18/SET—II 24



51. yifife gwg it #, frefafea § § 68 Epoch 1 #& v & 2
A) aferid (B) FArigH
() faegfem (D) fe®
52, a-% & dd $ ®Y A I fRET W Gt WE F wE wYE F 959 W
(A) 2ffferar, ToIweTd, A2 (B) dlgerg, Sigiwr, grmfar
(C) witfeear, wimfin, e (D) a‘?ﬁm ﬁe?w TR
53. MR W, 9a g9 & WM, FaHa aw & fou srgafes fafasm .
(A) ¥ VIt ¥
(B) 9 ¥ W §
(C) smftafdd Tl &
D) Y # Fgdt ¥ iR fm wedt @
54, Trfafed w18 § F fFgel Sie@t"” (biotypes) § T& Tear S FHA ¢ ?
(A) Hessian fly of- wheat (B) Rice gall midge |
(C) Whiteflies (D) Cotton bollworm

55. TEANIGE e % ¥ H TWEe fR@ §R oamen srEigfeed 37 Cyclosporin A
gl yra ffan smr ¥ 2

(A) Trichoderma polysporum (B) Saccharomyces cerevisiae

(C) Aspergillus niger (D) Clostridium butylicum

T.B.C. : 03/18/SET—II 25 T,



56.

57.

58.

59.

60.

BT cotton plants are not destroyed by certain insects due to the synthesis
of certain insecticidal proteins. Upon ingestion of these plants by the insects,

these proteins become active in gut at :
(A) Acidic pH (B) Alkaline pH
(C) Neutral pH (D) Independent of pH

Which of the following characters is not required for a vector in genetic

engineering ?

" (A) Origin of replication (B) A restriction site

(C) A component of telomerase (D) A selectable marker

Which of the following is a technique for analyzing genetic relatedness using

PCR to ampﬁfy arbitrarily chosen sequences ?

(A) RFLP (B) RAPD

(C) AFLP (D) GISH

Destructive interferences between two waves of light would result in :
(A) Change in amplitude (B) Change in phase

(C) Change in frequency (D) .Change in wavelength

The enzyme that can be used for labeling DNA using Nick translation is :
(A) T4 PNK (B) Terminal transferase

(C) Klenow polymerase (D) DNA polymerase I

T.B.C. : 03/18/SET—II 26 -



96.

57.

8.

59.

60.

@WW%W%W%W%&@@WWW@
W ¥ FE g7 N # sfwfew W, 4w WA o F whEA @ wm ¥

(A) @w=id pH W (B) &R pH W

(C) % pH W (D) pHﬁéa‘a
ﬁ#ﬁméﬁﬁuﬁnﬁém%fmﬁwﬁﬁaaﬁﬁmaﬁwﬁ%?
(A) wiwpla =i Sfd | <B>@uﬁ1§amsz
(C)éﬁﬁiﬁm@m (D) TH T97 FH TG HIHL

frefafed § @ FHE ERTE €9 ¥ T T STIHRA B dgH Y IR A
I FE AEd F favenn w1 & fau T awdE 77

(A) RFLP . (B) RAPD.
(C) AFLP (D) GISH

TEW H S a % e feTeert shau & gRummeesy @@ g ?

(A) @™ # Redd (B) =W & uRedd

(C) smafa # wfiadd (D) T H ufiEd

fih TGONT F1 TN W ST A A FW B A0 gQEE R S T
3

(A) T4 PNK (B) ZfHaa TS

(C) T e (D) DNA ufeiis I

TB.C. : 03/18/SET—II 97 P.T.0



61.

62.

63.

64.

65.

Suitable dyes for the localization of proteins, lipids and starch grains,
respectively are : '

(A) Ethidium bromide, bis-benzimide and DAPI, respectively

(B) Coomassie brilliant blue, Sudan III and Potassium Iodide, respectively
(C) . Calcofluor white, DAPI and Ethidium bromide, respectively

(D) Bis-benzimide, Potassium Iodide and Sudan III, respectively

Immunogold technique involves :

~ (A) Labeling of tissues with gold particles bound to specific antibodies

(B) Labeling of tissues with antigens bound to gold particles

(C) Injecting of gold particles in the cells along with antigens

(D) Injecting of gold particles in the cells élong with antibodies

The extent and position of gene expression in plants can be studied by :
(A) Northern and Southern blots

(B) Northern blots and quantitative PCR

(C) Southern blots and quantitative PCR

(D) Plant transformatioﬁ'with constructs containing selectable marker genes

Which of the following péirs of bonds within a peptide backbone show free

rotation around both bonds ?

(A) Co—Co and N—Ca (B) N—Ca and N—Co

(C) N—Co and Co—Co M) C = 0 and N—Ca

Amino acid residues commonly present in the middle of B turn are :
(A) Ala and Gly (B) Two Cys

(C) Pro and Gly (D) Ser and Gly

T.B.C. : 03/18/SET—II 28



61.

62.

wen, fafre s =F e 3 wrmem @ fau sugw T Fa: §
(A) Ethidium bromide, bis-benzimide and DAPI, respectively .
(B) Coomassie brilliant blue, Sudan III and Potassium lodide, respectively
(C) Calcofluor white, DAPI and Ethidium bromide, respectively

(D) Bis-benzimide, Potassium lodide and Sudan III, respectively
TepinieT T § i §

(A) fafoe @hartdt |4 ang €7 F F01 F WY Faw F Aatan

(B) ¥R & &0 | a9 WA a1l Jad! H oAater

(C) vwfasHi & wu Ffwwsd d 91 & F F FHRE AN

(D) #Ffersl § wrardt & |19 @3 F FO0 F FoRE A

i d st afysafa =t 9w ik fufs &1 svage e g0 ffan o1 @&
%

(A) Northern and Southern blots
(B) Northern blots and quantitative PCR
(C) Southern blots and quantitative PCR

(D) Plant transformation with constructs containing selectable marker genes

oz d@an & st feafafas § § @98 afgg &1 79 39 a4 3 91 3R
T R 2

(A) Co—Co 3 N—Cu (B) N—Ca 3R N—Co
(C) N—Co 3 Ca—Co (D) C = 0 3 N—Cu
fFg i ufge @ oEim SR A B # dr § Heg oA £ 2
(A) Ala 3 Gly (B) @ Cys

(C) Pro 3 Gly (D) Ser 3 Gly

.B.C. : 03/18/SET—II 29 PTO



66. Cornea gets its nutrition from :
(A) Blood and tears (B) Tears and aqueous humor
(C) Lymph and aqueous humor (D) Collagen and blood
67. Schuffner’s dots in Plasmodium vivax are present :
(A) In the cytoplasm of sporozoite
(B) On the surface of the male gametocyte
(C) On the surface of infected RBC
(D) On the surface of parasitized hepatocyte
68.  After repeated rounds of binary fission :
(A) All the offsprings are genetically identical to the original parent

(B) Most of the offsprings are identical but few may differ genetically to the

original parent

(C) Most of the offsprings differ but tew are identical genetically to the original

parent
(D) All the offsprings differ genetically to the original parent.

69. If immunoglobulin purified from the polyclonal antiserum against BSA is
digested with either pepsin or papain then it splits into fragments. Select the

correct option.
(A) Pepsin-digested fragments cannot precipitate the antigen
(B) Papain-digested fragments cannot precipitate the antigen

(C) Pepsin digestion will produce two Fab fragments joined by disulfide bonds

(D) Pépain digestion will remove disulfide bonds and produce one Fc fragment

T.B.C. : 03/18/SET—II 30



66. HF # fHed dow frea & 2

(A) T 3R 3ty (B) 3ifg ik Iy 5

(C) ot 3R 9y v (D) FreeH iR &
67. weAIfegn agaad ¥ YHR Sy e HNE € 7

(A) TRNEE & WEred o (B) W JH& & Tag W

(C) THfHd ETH F TE W (D) WSHeiFd RS F WE W
‘68. 5 faged & aR-9) R & IR

A) W dad AERE ®9 @ e T @ g d

(B) ferhiyl FaM MERd &9 F @ wal-fua@ & ¥9F § ofdd 8 fim @
g §

- (C) fueie Hae ITafid ¥ ¥ q@ wa-fua @ = Bt € afe we wm e
A 7

(D) @it g EfE w1 ¥ q@ wa-fra @ = A R

69. fk swwy & fears defiwle @R 4 I8 sgrdsfe @ A @
Wémammm%ﬁra%gmﬁﬁﬁuﬁaﬁm%mﬁﬁm
F TF7 FifA |

(A) EA-T= g@ HW WA B I T A GHA §
(B) UYFA-SEORE THS TS HI IUSH & T FHA ©
(C) W A, SEECERES Sed ¥ i ot & Fab IHS! &1 IR HM

(D) YR A SRECHEE S€ g oM IR TE Fe IHS Y& F:AM

T.B.C. : 03/18/SET—II 31 B.T.O.



70.

L

72.

73.

Excess prolactin causes :

(A) Acromegaly (B) Gynaecomastia
(C) Dwarfism | (D) Early menopause
Activation of oncogene involves the following processes :
I.  mutation in coding sequence

II. gene amplification

III. chromosome rearrangement

IV. mutation in non-coding sequence

Which one is appropriate ?

(A) I, II and III

(B) II, III and IV

(C) I, III and IV

(D) I, II, III and IV

Sex-linkage refers to :

(A) Inheritance of genes linked to sex determination

(B) The ration of genes on the autosomes and sex chromosomes
(C) Inheritance of genés carried on the sex chromosomes
(D) Linkage of genes present on the sex chromosomes
Hay fever is an allergic disease of :

(A) Mucous membrane of nose and upper air passage
(B) Erythrocytes in blood

(C) Kupffer cells in liver

(D) Mucous membrane in intestine

T.B.C. : 03/18/SET—II 32



70.

71.

72.

73.

k5 110C 111G 0 e O i Tl B A

(A) T (B) AR
(C) @HrH (D) gt TfAgfd

St & wfEam § frefdafea wfwad i €
I &ifén e § Iafadd

[I. ¥ waH

I11. wEEm qFeaw

Iv. f-Ffen sy 8§ IafEd

HA9 ITYE ¢ 7

(A) I, II 3R III

(B) II, III 3R IV

(C) I, III 3 IV

(D) I, 11, III 3/ IV
Jgu-gay H wehfa w@ @

(A) fen faufon & 92 S &1 FwTEA

(B) maﬂzﬁw.ﬁtﬁmmsﬁaaﬁﬁﬁﬁam
(C) ¥ TRE W fFu S F ST

(D) feim o W IuferE S 1 EE

‘¥ FE’ TE T AR

(A) % 3R FT 9 O F v e &
(B) W@ H TRAEEIH #

(C) TFd § HIE Bfwsl F

(D) 3 # vorm faeeft &

T.B.C. : 03/18/SET—II 33
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74.

75.

76.

7,

Capacitation is prevented by :

(A) High levels of active Fertilization Promoting Peptide

(B) Low levels of active Fertilization Promoting Peptide

(C) Activation of acrosin during Acrosomal reaction

(D) Chemical changes in the tail of sperm

Color perception in man is due to :

(A) Rhodopsin pigment in cone cells

(B) Rhodops‘in pigment in rod cells

(C) Todopsin pigment in cone cells

(D) TIodopsin pigment in rod cells

A phenomenon when parasites parasitize themselves is known as :
(A) Hyperparasitism (B) Parasitoids

(C) Monoxenous parasitism (D) Polyxenous parasitism

Sickle cell anaemia has not been eliminated from the African countries

because it :

(A) provides immunity against bacteria
(B) is controlled by recessive genes

(C) is controlled by dominant genes

(D) is not a fatal disease

T.B.C. : 03/18/SET—II 34



74.

75.

76.

71.

HUGIA Y TF @ T 2

(A) g 8= F @ 37 9 TeEe ® 3w W 4
(B) wfha f8=m =1 sgren 37 A Tens & A W) 9
(C) THEWE whEw # A wRE # ghean

(D) &M & g9 § vEEte afited @
ugwﬁr’naﬁumﬁm@ma?ﬁ%?

(A) v FREwET § JefEd oo |

(B) e =Hiftrmell ¥ JSifaq o 9

(C) v HIfvrwIs # sTASEd qufh 9

(D) Ue HwIA H e avie |

frfafed § 9 39 weT &1 999 &g

S U S S W S e §

(A) Hyperparasitism (B) Parasitoids
(C) Monoxenous parasitism (D) Polyxenous parasitism
k! vl | fawa I g gama 76 gen € it 98
(A) IFRIE & fodrs gfwen Jem & §

(B) et St gr1 Frifsm fean wma §

(C) wq@ S g faf fea s §

(D) ®E wEw S TE ¥

T.B.C. : 03/18/SET—II 35

P.T.0.



78.

9.

80.

Blood group type A antigen is a complex oligosaccharide which differs from

H antigen present in type O individual by the presence of terminal :
(A) Galactose d (B) N-acetyl galactosamine

(C)  Glucose (D) Fucose

The causative agent of mad-cow disease is :

(A) Virus (B) Bacterium

(C) Worm (D) Prion

A difference in Queen bee and sterile worker bees ié due to :

A) A siqgle gene |

(B) The number of chromosomes

"' (C) Differences in larval diet

81.

82.

83.

(D) Absence of sex chromosome in worker bees
Which of the follbwing cells are attacked by HIV ?
(A) Bcells B) Teells
(C) Antigen producing cells (D) T helper cells
Rickets can be prevented by taking :

(A) Calcitonin ' (B) Calciferol
(C). Calcinurin | (D) Tocoferol
X-rays technique is employed to detect :

(A) Biological activity of a protein

(B) Amino acid composition of a protein

(C) Amino‘ acid sequence of a protein

(D) - Three-dimensional structure of a protein

T.B.C. : 03/18/SET—II 36



78. T UHE TN ‘T&' THNA W Wfew siferidegs owy ¢ @harﬁaﬁﬁﬁg LG
oA ¥ 9 e &t Sufefa § B @ & 2

(A) Galactose
(B) W-Uferd foieeasT@ (N-acetyl galactosamine)
(C) 7ot (Glucose)
(D) Fucose
79. ‘B’ W H We T ;T ?
(A) Th fasmy (B) ftamy
- (© FME (D) Prion
80. Wq@a@ﬁhaﬁmnmﬁwm&m%% ?
() TH THA |
(B) TURG & e
(C) @@l & MR H 3
(D) sifi TR § e B # st
81. e § Q frw Bfve W HIV 371 w9en e o § 2
(A) st HIfFRIRT W | (B) @& wif¥EwRT W
(C) TWiSA IRE SIS W D) & TR vl ®
82. fbem &1 7 o1 ¥ J&1 &1 W1 § ?
(A) S (Calcitonin) (B) Calciferol
(C) Calcinurin (D) Tocoferol
83. TH-Y Ak 1 ITEM frefafen # A frew v @ @ o fr s ¥ 2
(A) T& 9H @t Sfas nfdfafy
(B) M THE WA H L=
(C) A wfae WA &1 o wH
(D) T WM & TH-3TamH §t=

T.B.C. : 03/18/SET—II 37 PF.TO.



84.

85.

86.°

87.

88.

The lac repressor has which of the lfollowing DNA binding motif ?
(A) Homeodomain ' (B) Leucine zipper

(C) Helix turn_helix | (D) Zinc finger

Following are examples of cell adhesion molecules except :

(A) Desmosomes (B) Armadillo protein family
(C) Connexon (D) Integrin |

Which of the following pathogen enters the human body without the help

of a vector ?
(A) Wuchereria (B) Plasmodium
(C) Schistosoma (D) Trypanosoma

In Human popﬁlaﬁon, why is color blindness more common among males than

in females ?

(A) Gene of colour bli-n-d is on Y chromosome

(B) Colour blindness is X linked recessive traits

(C) Colour blindness is autosomal recessive trait

(D) It’s not a genetic disease so can not be predicted

Autonomously replicating sequences (ARS) is a characteristic feature of :
(A) Plasmid vectors (B) Phage vectors

(C) E.coli vectors , (D) Yeast vectors

T.B.C. : 03/18/SET—II 38



84.

85.

86

8i.

88.

Lac fOR & 1 frefafed § @ $9@ DNA sEfeén w@ifew ¥ 2

(A) Homeodomain (B) e form

(C) ®fver = foem | (D) 5= femR

frefafaa § ¥ S 9o g S 1 SeE T E 2

(A) Desmosomes (SEHEMA) (B) smHifean xﬁfr—r REr

(C) Connexon (D) Integrin

frefafed # ¥ sFw e d9 #1 Heg & fof qFa R A yaw s § 2
(A) Wuchereria | (B) w~HIfeTH

© foemmm (D) T

uFE Sat #, afEensl w1 qor § qed § er Seresig afuE T i ¥ FiftE
(A) WWNWYWW% |

(B) #eR =gew X fowe fdfma @am ©

(C) Fer =Ee sddme fdfew fadoa &

(D) & s dd Y, vohn e s T w W
WEN F9 T A1A FTFA (ARS) H wH fada §

(A) TS e (B) & FRX

(C) E.coli 9K D) WHR JT

T.B.C. : 03/18/SET—II 39 : ETLC



89. What is the chemical base of gene imprinting ?

(A)
(©

Phosphorylation of DNA (B) Methylation of DNA
Oxidation of DNA (D) Glycosylation of DNA

90. Telomerase enzyme is a :

(A)
(B)
(©)
D)

91. Four males and twenty two females of Reindeer were introduced on an island
in Alaska. After 30 years, the population of reindeer increases to 2000.
Which graph shows the best population growth curve for the reindeer

RNA dependent RNA polymerase
RNA dependent DNA polymerase
DNA dependent RNA polymerase
DNA dependent DNA polymerase

population ?

(A) A (B)

C) C (D)

Number of Reindeér
ber of Reindeer

.

A

ber of R

Number of Reindeer

Time
K F
Time

=

o
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89. S BIY (Gene imprinting) 1 TEEMH U 1 § ?

(A) ST F1 FEHREANA (B) wAC w1 fagmeyH

(C) ST &1 iR (D) ST F1 TARHIGAIHE
90. Y TSRH TF :

(A) ¥RTAT Afd FRCTY dfefiis &

(B) ¥RTAL anfyd Seag diefimy @

- (C) @uAu fsR RNA i

(D) Zwqr | fsR S oS

91, HORHl % Th A W HEW ot 9] W IR =9 qrd yafed &1 71 30 aui
& 9, e &t Rt 2000 7% 9 )| frefafed § ¥ wHE UE TE # e
& fau wa@ o= sEEn gfg o% <uiar & 2

Number of Reindeer

Number of Reindeer

Time

Number of Reindeer
Number of Reindee:

(A) A (B) B

G C D) D
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92. Consider the following statements with reference to succession :

I. It involves strong competitive interactions

II. No one species is completely superior to another

III. The next successional species make the site less suitable for both early

and late successional species

These statements are the characteristics of :

(A) Tolerance model
" (B) Inhibition model

(C) Facilitation model

(D) Tolerance and inhibition model

93. Match the correct options from the two columns :

1. Tropicai forest A

2. Tundra -~ . B

3. Conifer forest C.

(A) 1-C, 2-A, 3-B
(B) 1-B, 2-A, 3-C
(C) 1-B, 2-C, 3-A

D) 1-A, 2-C, 3-B

T.B.C. : 03/18/SET—II

Spruces and pines dominate boreal forest,

ground cover below spruce is mostly mosses.
High primary productivity, high rainfall, warm
temperature.

Low temperature, permafrost, low precipitation.

42



92. IWiyHR % Hey ¥ frefafas ol W faur Fifvw -
I 3o wogg wieeodt wewfmar wfee &
II. #% s yorfd g ¥ @ wE I T ®

1. 37Tel TSRt gonfaal |ee & gHl Sogl 3R 3 arell STUiHsit yofad
& fau %7 suggd o §

3w fegat fadmand & 2
(A) wHfesa wfed
(B) fmay #fead
(C) Hfawn wfea
(D) wfew iR Ay wfea
93. < wfem ¥ WH faswed w1 faam FfC .

1. IWmfEdg a1 A WE IR URA Sifad sa § S § 9 @ AN
H THA F FA FRTR FE H 8

2. T ' B. =@ Wufisd IARHA, I=9 I, TH quEE|
3. VYR C. 9 A99M, THHE, HH 96|

(A) 1-C, 2-A, 3-B

(B) 1-B, 2-A, 3-C

(C) 1-B, 2-C, 3-A

(D) 1-A, 2-C, 3-B
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94.

95.

96.

97.

A fight-or-flight response in the body is controlled by the :
(A) Sympathetic division of the nervous system

(B) Parasympathe'tic division of the nervous system

(C) Release of acetylcholine from post-ganglionic neurons
(D) Somatic nervous system

Which blood vessels in a mammalian system have the largest pressure drop

from one end to the other ?

(A) Arteries (B) Arterioles

(C) Capillaries (D) Venules

At a pre-synaptic nerve terminal, the release of synaptic vesicle relies
mainly on :

(A) Entry of Na' (B) Exit of K*

(C) Entry of Ca* (D) Entry of Mg

The cell-lysafe is mixed with Phenol-chloroform (1 : 1) to separate the cell

- biomolecules. Three separated zones (A, B, C) will consist of :

(A) A- Phenol; B- DNA + RNA; C- Proteins
(B) A- Proteins, B- DNA + RNA, C- Phenol
(C) A- DNA + RNA, B- Proteins, C- Phenol
(D) A- Phenol, B- Proteins, C- DNA + RNA

T.B.C. : 03/18/SET—II 44



M.

95.

96.

97.

R H T AeR-A-3eM Wawa frgs grn fafa 2t & 2
A) df 7 F wRyfd o # g

(B) df¥ @3 & R fausE & g

(C) Tiferdif® =04 ¥ tfaerasard & fen & gu
(D) <few dfw @ & gm

Tk W JoTel! § S w1 afgwel § T 81 A g B8R 9% a8 W gad
firar & 2

(A) mfF (B) Arterioles
(C) s (D) Venules

T ye-fafes dfm ofilFa i, foifes qfem #1 e 9@ =9 @ feg w fk
FA T 7

(A) Na' & W@ ® (B) K' ¥ 9t foey w
(C) Ca®* & W9 W (D) Mg & oy W

&1 A ) e T f e B i (1 1)
9 faam S ¥ @9 sfem-arem &% (A, B, C) § Fr am 2

(A) A- f I, B- SCT + SR C- WA
(B) A- WIeH, B- ST + RNA, C- fFm
(C) A- ST + 3RTAT, B- WM, C- fHr
(D) A- f&9, B- 9@H, C- U + RNA
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98.

99.

100.

In jaw suspension, if palatoquadrate articulates to or fuses with the

chondrocranium, then the hyoid arch :

(A) Fuses with chondrocranium

(B) Attaches with chondrocranium and lower jaw by way of ligaments
(C) Articulates with lower jaw

(D) Does not involve in jaw suspension

In phase contrast microscopy, the rate at which light waves enter through

specimens is :

(A) Constant

(B) Inversely proportional to their refractive indices

(C) Directly proportional to their refractive indices

(D) Exponentially proportional to their refractive indices
Highest concentration of salt is found in :

(A) Renal pelvis . (B) Renal medulla

(C) Renal cortex (D) Glomerulus
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98. w2 W wElyA #, Ak TOOEARE HITHIEE b WY TEA@ ¢ A WF F

@ FEeie I
(A) FEBRHEE & I TS B OIS
(B) Wm%mmﬁﬁ@%ﬁmﬁnﬁaﬁﬁ%mwsﬁaﬁ%
(C) F=t w@ & qY Ig T &
(D) e % frcfem § wfte & et
 99. wmmﬁ,mﬁmwamm%%ma;
() frim
(B) @ SF GEHH & IoHII A ¥
©) T s # R Y R A g
(D) WWW%WWM%
100. 9% ¥ GaQ Afud g wE WE S ¢ ?
(A)qwaﬁﬁnﬁi (B) o Hewl H
C) i =eemd (D) wfvrrra® |

T.B.C. : 03/18/SET—II 47 | P.T.O.



